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A ETHE 1TAHT=Y 1,000,000 1REEDHSHTI0FHDIEEE
- EEE 1ANHTY 300,000 1RERSHD155FDIEEE
i 1% HT-U 800,000 1REEDHSHT0FHDIEEE
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7241 1| &3&m 20,000 20,000| [fe iR 14| =8 40,000 40,000
2| ZmEH 80,000 80,000 15| /N 1,500,000 4,490,000 5,990,000
3 == 260,000 260,000 16| &R 1,120,000 1,120,000
4| TiRAT 20,000 20,000 17| B EET 15,200,000 229,430,000| 244,630,000
5| Ef=HT 760,000 760,000 18| A% HAET 20,000 20,000
6| &3 500,000 500,000 19| % BT 4,600,000 229,860,000 234,460,000
7| FILET 540,000 540,000 20| HVET 1,250,000/ 53,900,000 55,150,000
m 8| #l#gm | 5,250,000/ 285,390,000| 290,640,000(|E% 21| B &Y 28,780,000 28,780,000
o TR 150,000 7,690,000 7,840,000 22| FERHET 1,050,000 1,050,000
10| F&H 3,930,000 3,930,000 23| g RHT 150,000 150,000 300,000
1|dtEsm| 1,450,000 23,350,000/ 24,800,000 24| FHOEANET 300,000| 1,360,000 1,660,000
12| mEH 380,000 380,000| [ 25| BT 100,000 100,000
mE 13| Mg 20,000 20,000 26| R8T 40,000 40,000
+% ET 150,000 150,000 300,000
28| 1R HT 150,000 150,000 300,000
&t 28THHET 30,150,000 873,580,000] 903,730,000
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